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Topic:- General Knowledge and Logical Knowledge

1) Who is the Union Minister for Railways? / YA F Fg Wl P %:?
1. Suresh Prabhu / ER"\’[ uy
2. Chaudhary Birender Singh / e s Rig

3. Thaawar Chand Gehlot / TR TG TIBT*ﬁT‘T
4. Piyush Goyal/qﬁ'{q T

Correct Answer :-

 Suresh Prabhu / W uy

2) Who is the chairman of the Atomic Energy Commission? / UYHIU[ ol STANT BT A B %?
1. Madhavan Nair / HIYd qIAIR

2. UR Rao /g 3R 9

3. Sekhar Basu / [RER oy

4. A S Kiran Kumar / QWWW

Correct Answer :-

« Sekhar Basu / QRG] oy

3) Today is Sunday. After 1344 days it will be: / 3T AR 81 1344 o=} & a1 T8 A7 BT
1. Tuesday / HITIAR

2. Monday/w

3. Saturday / QAR



4. Sunday / IfdaR

Correct Answer :-

« Sunday /fdaR

4) Which Schedule of the Constitution lists the languages recognized by it? / SfIUTT Bt fHd Glﬂ'\"ﬁﬁ |

TP GRTAT UTNTE gdias 82
1. Sixth Schedule / BT 3!

2. Seventh Schedule / FTddl &W
3. Ninth Schedule / 7dT 3Tt

4. Eighth Schedule / 3T&dT ST

Correct Answer :-

« Eighth Schedule / 313 3Gt

5) The present defence minister of India is . YHRA *® a?h'IT'I' EEql) =N %‘I
1. Manohar Parrikkar / Il:n—E:'T IR

2. Arun Jaitley / 30T Sledlt

3. Ananth Kumar / 3/9d $HR

4. Nitin Gadkari / e TSt

Correct Answer :-
o Arun Jaitley / 3{20[ Siedr

6) The present head coach of Men's Indian Cricket Team is ./ 'Q'\‘?Gﬁ' Dt YR e TS
I g BIE gl

1. Sourav Ganguly / IRY Tﬂ"l(_“ﬁ
2. Rahul Dravid / g &[dS

3. Ravi Shastri / Ifd Rl

4. Anil Kumble / 31d ol

Correct Answer :-

« Ravi Shastri / I(d QT



7) Villages from which of the following districts have been included in the Climate Smart Village

Project? / FAFT # & fpT forel & i) ! ‘aaiTgAe W fads Mstee § wnfira fovar man 82
1. Singraulli / RFRIeR

2. Umaria / SHRAT

3. Sehore / HIBR

4. Ashok Nagar / 3RNH TR

Correct Answer :-

e Sehore / ?ﬂ@?

8) If one writes 'twenty four thousand nine hundred and twenty eight' in a reverse form which number

would be in the hundreds place? /H%aﬂs‘w%r ‘iﬁﬂﬂg\_ﬂﬂ:ﬁﬁW’ aﬁaﬁ*mﬁﬁm?n%
A AP F M W i H J=n grft

1. EIGHT
2. FOUR
3. NINE

4. TWO

Correct Answer :-

¢ NINE

9) Kheoni (khivni) sanctuary is located in the district WAL (m STHYRUY oo d
@ g

1. Morena/ﬁ%ﬂ
2. Dewas / GaTd
3. Rewa /JIdl

4, Ratlam / ¥ddH

Correct Answer :-

e Dewas/ éaw

10) Who among the following propagated ‘Advaita Philosophy’? / g A A feaa <3rgd A o1
vaR fear

1. Madhavacharya / ATe@=md



2. Gautam Buddha / T1dH dx

3. Ramanujacharya / mﬁﬁﬁlﬁ
4. Shankaracharya / RIERIEIL]

Correct Answer :-

o Shankaracharya / YHER

11) Who argued on behalf of India in the Kulbhushan Jadhav case? / @AHYUT STUT ATHA § YR Dt

3R ¥ forea o feam

1. Harish Salve / <11 Ted

2. Mulkul Rohatgi / ool Jgail
3. Arvind Datar / 3R[dg GIdR

4. KK Venugopal / FH a'UI"h'CIW

Correct Answer :-

« Harish Salve / %1 HTed

12) The term ‘Googly’ is associated with / RTeg "T'Iﬁ' sﬂ'\ﬁ gafera %
1. Athletics / Tcifcad

2. Cricket / fohdhe

3. Football / pedld
4, Badminton / étcﬁe:r

Correct Answer :-

« Cricket / fohdbe

13) Who was the first Indian to become member of British Parliament / fafesr L33 [ ® He™d CEEk I

TYH HRATE B A2
1. D.N.Wacha / SCTQ:TEI'HT
2. Surendranath Banerjee / wq CREI

3. Firozshah Mehta / Iﬁ?ila Qe ﬁ_ei?ﬂ
4. Dadabhai Naoroji / GTGTHTS ARSI

Correct Answer :-



» Dadabhai Naoroji / qlc TS ARSI

14) Who was named as the Chief Minister of Punjab following the victory of the Congress party in the

state elections of 20172 / 2017 & T Tdl H BT Tl DI it & d1G b UoITg & GBI BT 19
< foar mar U

1. Sukhpal Singh Bhullar / J&UTd ¥ Yok

2. Captain Amarinder Singh / htdlq MR Rig
3. Charanjit Kaur Bajwa / TRUMSHT DR Froral

4. Preneet Kaur / fF{d R

Correct Answer :-

» Captain Amarinder Singh / Pt MR &g

15) Who was appointed the 15t Attorney General of India on 30™ June, 20172 / 30 Y, 2017 P URd

¥ 159 areTf oRa ¥ wu A frd Prgea fvar mar ar
1. Soli Sorabjee / et TRTSSIT
2. Ravi Shankar Prasad / 3fd Q&= U4TG

3. Mukul Rohatgi / Pl IR
4. KK Venugopal / HPb éﬂfﬂw

Correct Answer :-

» KK Venugopal / CL a'UlTnW

16) B is twice as old as A but twice younger than F. C is half the age of A but twice the age of D. Who is
the oldest? / B @1 3T A B 3T A SN 8 AP F BT ST A SR FA 1 C P MG A Y MG I
3t 8 AfP D B Mg | SN B | TR TS 3Ty fhaet 32

1.C
2. A
3.D

4. F

Correct Answer :-



17) The Preamble of Constitution of India envisages a / YRA & JfAUTT BT JRd1a-11 & 3BT
U1 B TS 8

1. secular democracy / YHARYeS S

2. theocratic state / YHAT STUTRT G-

3. sove.reign, democratic, secular and socialist republic / UW—W, GFIHT%, ﬂﬁﬁ?ﬁ&‘f 3R JHSIarG!
NGE]

4. Monarchy / JSTdd

Correct Answer :-

 sovereign, democratic, secular and socialist republic / UH?IT—“VTCIH, \_SFIT‘ITW, ﬂﬁﬁ?ﬁ&[ 3R BRI A |

18) The President Rule is imposed in a State when / ¥t Tr5a # wTyufa we @@ @ fésan s 3,
SE

1. there is police firing / gi%m D1 3R Y Mgy E_st gl

2. there is breakdown of Constitutional machinery / ﬂa‘éﬂm RERSES L E] Epf a1 E?f
3. the governor becomes disloyal to the centre / XISIUTST % & ufa ﬁm‘eﬁ? o \_¥|T\Ql
4, the Chief minister misbehaves / ¥4 HHt Ted Said B

Correct Answer :-

« there is breakdown of Constitutional machinery / ﬂa‘éﬂm RERSES L E] Epf a1 E?f

19) The standard meridian of India passes through / HRd T HIHD HHTG TI?T ﬁ Eﬁm ol %
1. Ujjain / I
2. Singrauli / ATRIe

3. Durg/ Q'Tf
4. Bhopal / Hara

Correct Answer :-

« Singrauli / RIFRYH

20) Cherrapunji, famous for receiving the highest annual rainfall in India is located in which state? /

YR § qaifie aiffe auf ura @3- & fore ufkies aRmye, fea wsa o fRia 82
1. Tripura/ﬁ'ERT



2. Mizoram / ftl\_ShTJ:[
3. Sikkim / ffawH
4. Meghalaya / e

Correct Answer :-

» Meghalaya / oI G}

21) “Sharad Joshi Award” is given in which of these fields? / ‘XIRq =it YRIIPIR’ faddfeaead
wer fpar wimar g2

1. Essays, Memoirs, Satire Writing / ﬁ_q;‘ﬂ, '{'i'H-NUI, T TRaA
2. Poetry / g

3. Classical Music / QIR Fiid

4. Visual Art / Tag]3rd 31C

Correct Answer :-

» Essays, Memoirs, Satire Writing / ﬁ_q;‘ﬂ, RO, I [NECE]

22) Eklavaya Award is given to / Y ¢Tod YII¥PIR 5 fear sran %?
1. Junior players / qﬁm @ET@?[

2. Trainers / UTRI&®

3. Senior players / iR m

4, Coaches / a'ﬁ?[

Correct Answer :-

« Junior players / \_{[&PJT RIS

23) Ratapani dam is located in_. / TATUTHT Fier A fRya gl
1. Morena District / ]ﬁ:ﬂ fored

2. Dhar District / 4R foTal

3. Raisen District / G forat

4. Ratlam District / IdelH forat

Correct Answer :-



« Raisen District / J7IY foral

24) In throwing of two dice, what is the probability of getting a total less than 4? / 33[ il B TP 1Y

PHH W, $d 6% 4 W HH M $t fHa-i wiiPpar g2

25) Find the odd one out: / Tdh faum JTd Hﬁﬁrﬂ'{:
1. 99

2. 126

3. 109

4. 45

Correct Answer :-

26) Complete the series choosing the missing number: / T BT DY AT B! YRT BIOTQ:
2,59,19,37,

1. 74

2.76

3.73

4.75



Correct Answer :-

e 75

27) Complete the series choosing the missing number: / T JBAT TAB YT BT GRT HIOIC:
4, 10, , 82, 244

1.24

2.37

3.28

4. 30

Correct Answer :-

o 28

28) Complete the series choosing the missing number: / T JBAT TAB YT B GRT HIOIC:
2,3,863_

1. 3008

2. 3968

3. 1998

4. 1038

Correct Answer :-

e 3968

29) Select the option that is true about the Statements and Conclusions given:
Statements:

Some tables are fables

All fables are cables

Conclusions:

I. All tables are cables

I1. Some tables are cables

/ 39 faeu &1 99+ Fifere Sife f3u U Sy=T ik fepul & IR A 981 8
DY:

PO cad hada &

Tt el Baa &

ﬁ'lﬁﬂf:



I 9t d9q Faa &
II. $O ¢9d $ad &

1. both conclusion I and II follows / ftm® 1 3R 11 G WW g

2. only conclusion I follows / &Had FThY [ S{FHRUT pdl ?

3. only conclusion II follows / $Had FHY 11 ST hdl g

4. neither conclusion I nor conclusion II follows / - E’Pf ﬁmﬂh GﬁT “J 33[ ﬁWﬁ 1T 3T B %

Correct Answer :-

« only conclusion II follows / $Had FpY 11 STTHRUT hdl g
30) Find the odd one out: / T® fauH 1d Fifere:

1. windshields

2. car

3. wheels

4, bonnet

Correct Answer :-

e car

31) If BANGALORE is coded YZMTZOLIV, then how is KOLKATA coded? / 9f¢ BANGALORE &1
YZMTZOLIV & $ifed far Srar 8, df KOLKATA &1 $3 Sifsd fear s

1. PLOPYGY
2. PLOPZGZ
3. PLOPZDZ

4. QLOPZGZ

Correct Answer :-
« PLOPZGZ

32) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 2 & 7€ §@er §, GBS HT UH HH IR &1 Tad YIS UgIIC:
1, 3,7, 15, 31, 62

1.31



2.7
3. 15

4. 62

Correct Answer :-
e 62

33) The series given below contains a sequence of numbers. Identify the incorrect

combination: / - & ¥ g@ar #, WS T UH HH IUMRG T | TAd Ao UgAIe:
216, 345,512, 729, 1000

1. 1000

2. 345

3.216

4. 512

Correct Answer :-
e 345

34) If KIRANis coded LISBO, then how is SRIKANT coded? / Tf¢ KIRAN®Y LISBO W HIfsd
a1 STt 8, @ SRIKANT &) 9 Hifsd forar SRvm?

1. TQJLBOU
2. TSJILBMU
3. TSJLBOV

4. ISJLBOU

Correct Answer :-
e TSJLBOU

35) If PRINCIPALITY coded INPRPACITYLI, then how is COMPUTATIONS coded? ? / afe
PRINCIPALITY &\ INPRPACITYLI Sifed f5ar SdT 8, @ COMPUTATIONS & &4 Sifed fvar
SRR

1. MPOCATUTNSIO
2. MPCOATTUNSIO

3. MPCOATUTNSOI



4. MPCOATUTNSIO

Correct Answer :-

o MPCOATUTNSIO

36) Select the option that is true about the Statements and Conclusions given:
Statements:

All coins are pens

Some books are pens

Conclusions:

I. Some coins are books

I1. Some books are coins

1 39 fareu &1 9g91 FIoE Sife 2T ey iR Fepuf F aR A T 8 :
DY:
I Re» 19 8

PO (WS T T

.

LD ﬁa%-gﬁ% g _

1. 8 Jd a9 &

1. both conclusion I and II follows / ﬁ'@?@h GhT 11 ath SR B %
2. only conclusion I follows / Had Aspy |1 STTERUT W_cﬂ%

3. only conclusion 11 follows / PHad fSHY 11 SFTHRUT Hal §

4. neither conclusion I nor conclusion II follows / 7 & fsw 1 3R 71 g1 fFehef 11 3FfaRUT vl ©§

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 81 fspH 1 3R HRELE RN SR GG %

37) Select the option that is true about the Statements and Conclusions given:
Statements:

Some wagons are cars

All mopeds are wagons

Conclusions:

I. Some mopeds are cars

I1. All wagons are mopeds

/ 39 fareu &1 9991 FIoE SifP 2T e Hu=) iR Fepuf F aR A T 8 :
DY-:

POAHBIRE

g Ms =&

ﬁﬁﬂf:



L. PO HIUS PR 3
LI FEAuS §

1. both conclusion I and II follows / ftm® 1 3R 11 G WW g

2. only conclusion I follows / &Had FThY [ S{FHRUT pdl ?

3. only conclusion II follows / $Had FHY 11 ST hdl g

4. neither conclusion I nor conclusion II follows / - E’Pf ﬁmﬂh GﬁT “J 33[ ﬁWﬁ 1T 3T B %

Correct Answer :-

« neither conclusion I nor conclusion II follows / 1 B} B 1 3R 7 €} fswdf 11 3RO 7 &

38) Select the option that is true about the Statements and Conclusions given:
Statements:

No child is a monster

All children are surgeons

Conclusions:

I. Some surgeons are not monsters

I1. Some surgeons are children

1 39 fameu &1 9g1 FIoE Sife 2T eyt iR Fepuf F aR A T g :
DY:

IS T & TE B

i 5= wei 3

frep:

1. O ol e T §

LTI e

1. both conclusion I and II follows / f¥5HY 1 3R 11 G ST A S

2. only conclusion I follows / Had Y | STTART FRATQ

3. only conclusion II follows / PHad fSHY 11 SFIHRUT Hal §

4. neither conclusion I nor conclusion II follows / 7 & fTsw 1 3R 71 g1 fFehdf 11 3FfaRUT %l §

Correct Answer :-

« both conclusion I and II follows / 15 d 1 3R 11 1 IR0 GG %

39) In a certain code language, iks pir rit means fine march night, het its pir means every
summer night, iks ptr mos means fine for parking. Which is the word for march in that code
language? /TP W HIS HTIT fr‘, iks pir rit d1 3 fine march night; het its pir 1 3 every
summer night a4 iks ptr mos &1 Y fine for parking 811 8| 39 $Ys HTNT H march & e frg
g BT SIAATA 5T 7T 32

1. iks



2. mos
3. rit
4. pir

Correct Answer :-
o rit

40) In a certain code language, bart il arn means thrills and frills, hed mik ain means
diamonds are forever, ad ket hed means hard as diamonds, lim arn kelt means rock music
thrills, ket kelt lim means hard rock music. Which is the word for mikin that code language?
/UE W BIS UTNT H, bart il arn &1 344 thrills and frills; hed mik ain &1 314 diamonds are
forever, ad ket hed &1 3 ¥ hard as diamonds, lim arn kelt &1 3 f rock music thrills aUT ket
é{eltlim?ﬂ 31 hard rock music €A1 81 3 IS UTNT A mik & T 5w wrsg &1 3xauma faram wan
?

1. music
2. diamonds
3. are or forever

4. hard

Correct Answer :-
 are or forever

Topic:- Mental Ability and Mental Aptitude

1)
If the following two squares shown below overlap, which one of the following options

is formed? / afg =@ &Y a9 yfdeofg 8 &, o e & & == @1 v TFeq =7 &7




>
., BY
-

Correct Answer :-
il ]2

U
R/
N\

2)
6 7 (< 7 i i

Which of the following is between ﬁcmd E 7/ E X E & a9 # Frafefaa & 9 i 27

68
1 143

ﬂ
5 65

]

136
3.

al

106
4,

Correct Answer :-



136

3) 3 o 5 —
If Z=Zthen the value of ( a}is AR s & (b-a) & AT &

(b+a) b 6 (b+a)

2
11

1.
1
11

2.

3. 55

4 0

4) In the sequence shown below, which figure comes next? / = fe&r a7 &H #, 317l

HThlcr it T 3REir?
L Jele eCe eCe eCe
Q00 olole, 090 OO
OO0 olele, eleole L_lele}

ol 1
el s
ele]




or I
e0e
L 1 IS

O8O0
00
o] 1

4,

Correct Answer :-

e0e
000
e0®

5)
In the sequence shown below, which figure comes next? / A &3 914 &H #, el

i i T 3RET?

LB BE

i m v




Correct Answer :-

6) . " :
Arrange the fractions ﬁ : % ,and i in ascending order of magnitude. / &= ﬁ, %,ﬂ‘h
3 c E
?;1 FT GNATT & HARIGI HH H caaedd Hi|
2. 3
_{ ’ T fhreore
1 15 21 10
A .
21 1015
2.

[a—
[
[ ]
[
—t
Lk



7) The product of ages of Mohanlal and Sohanlal is 99. If the difference of their ages is 2 then find the

age of the elder among the two./ﬁmﬁﬁmaﬂéﬂ'ﬁﬁww%l U%G*Iﬁ\?rﬂ'ﬂaﬂ
MR 2 AT T A 938 Tt Y J1d B

1. 12
2.10
3. 11

4.9

Correct Answer :-

e 11

8) Out of 4000 workers employed by an ancient king to build his monument, 3600 carried the stones
from the quarry, while 608 helped in carrying the stones as well as in mounting them. How many helped

in mounting the stones alone? /WWWWWWWWW%%’&WMOO
FHHETG & & 3600 WS T TRRT B A9 A TafPb 608 TR B A T | 3R 1Y § 75 R 1
HETAT Hd A1 378 | fhaa et TR & RITIH | Jgradl Hed 42

1. 600
2. 400
3. 300
4. None of the above / SWRIaGd H J 18 ol

Correct Answer :-

e 400

9) At simple interest a sum of money is doubled in 20 years. What is the rate of interest? / HTYRUT <ATS]

TR 20 I H TP SRIT AR SR 81 1S B | =11 B a3 1 82
1. 10
2.20
3.5

4. 25

Correct Answer :-



The age of Preeti and Vimal are in the ratio of 3 : 5. After 9 years, the ratio of their ages will become 3 : 4.
The present age of Vimal is: / Hifal 3R faua &t 3 3:5 %\ﬂﬂ'ﬂ'ﬁﬁ%l 9 atftr%n?r,sﬂaﬂengwr
U 3 : 4 §1 oI 3 | fowa o1 a9 &:

1. 15 years / 1599
2. 9years/9a'5f
3. 18 years/lSHﬁ

4. 24 years [ 24 CL

Correct Answer :-
e 15years/ 15 Gl

11) If three fifth of a number is 155 more than two fifth of the same number, then the
number will be / Tfe TH J&IT &1 3/5, I AT & 2/5 V 155 ST 81 99 98 =11 gift:

1. 925
2. 775
3. 885

4. 955

Correct Answer :-

e 775

12) Find the difference between the compound interest and simple interest on Rs. 30,625

invested at 4% p.a. for 2 years. / 2 I8 & ¢ 4% ufaad w fARE 30,625 $1A & TwglS
1ol 3R IS TSl & S 3R [T P}

1. Rs. 50/ 50 ST
2. Rs. 49 / 49 T
3. Rs. 125/ 125 W

4. Rs. 99 /99 3UY

Correct Answer :-

e Rs.49/49 309

13) Two friends, A and B start from places X and Y, respectively which are at a distance of
390 km. Find the time taken by them to cross each other, if they are traveling in opposite
directions at a speed of 5 kmph and 8 kmph, respectively. / AATA 3R B, shHXI: R X 3R



Y I UR™ HXd g 9 {5 390 {5t &t gft R §1 afe 3 wu=n: 5 foht ufa ger oiv 8 it ufa ver &t
e & faudia fezmant & o &3 @ § O Ueh-ga @) UR &+ § 39 gRT o T 9y $1 9 B

1.10 hrs / 10 ©¢
2.40 hrs / 40 ©¢
3.30 hrs/ 30 ©¢

4,20 hrs / 20 °¢

Correct Answer :-

« 30 hrs/ 304

14) If 'x' is 80% of y, what percentage of 'x' is 'y'? / Ufe y &7 80 Ufa=d 'x’ 8, al ‘x’ &1 fba=n
wfa=ra Yy’ 82

1. 130%
2. 120%
3. 128%

4. 125%

Correct Answer :-

e 125%

15) If A's income is 20 % less than B's income, find out by how much percent B's income is

more than A's income? / 9f¢ A &1 314, B &1 34 ¥ 20 Ufa=rd $H @ @ J1d B & B 1 34, A B
Mg | fpaar ufawra aiftre 82

1. 20%
2.25%
3.35%

4. 30%

Correct Answer :-

e 25%

16) A and B can do a piece of work in 15 days. A and C can do it in 10 days, and B and C can
do it in 12 days. How many days would all of them together take for the task to be
completed? / A 3 B T& &1 $i 15 fo7 & TRT H Fd &, A 3R € 39 10 & § 1 &% T4 T,
T4 B 3R C 3 12 foAt & 1 #% Ivd €1 3 Tft vy wrf 3t 1 e & o fpam fo= |



1.5days/5ﬁq
2. 4 days/ 8 fa1
3. 8 days /8 fa

4.9 days /9 f&1

Correct Answer :-
« 8days/8fad

17) A can do a work in 30 days. He works at it for 20 days and then 'B' finished it in 12 days.
In how many days 'B' alone can complete the work? / A &=t o1d &1 30 fa=f A T GFar g1 at
20 f&Y & fore wrf Frar 8 3R IS a1g 'B' 39 B &Y 12 fT & o w3 a1 81 fpam fgi &
3BT 'B' HTH B T HR AT 82

1. 35 days / 35 faa
2. 36 days / 36 fa
3.32 days /32 fad

4. 30 days / 30 &

Correct Answer :-
e 36days /36T

18) A class contains 20 boys and 20 girls. The average marks scored by the 20 girls in an
exam is 85 and the average marks scored by the 20 boys of the class in the same exam is 83.
Find the average marks scored by the class in the exam. / fedt wam ¥ 20 FIS’% 3T 20 Flsﬁ"fﬂ
e &1 U ukien § 20 dsfedl grT sifcla i o 85 § i U udian o 20 ds@! gRT Sifvfa
3RIa 3 83 7| URtem ¥ Fa gRT Sifvfa iiaa sil &1 3a +e |

1. 84
2. 80
3.90

4. 86

Correct Answer :-

19) On a square plot of land of sides 14 m, a cow is tethered at one corner by a rope of length
7 m. What is the area of the plot ungrazed? / 14 Hiex Yur3i & FIHR YT W, TH T4 7 Hex
TS D TR GRTTH S H d¢ft g3 81 91 =R g€ Yavs &1 eowa &1 82



1. 196 sqm / 196 GiTHIER
2. 170 sqm / 170 FHIER
3. 165.5 sqm / 165.5 FIHIER
4.157.5 sqm / 157.5 THER

Correct Answer :-

e 157.5sqm/ 157.5d7 HieR

20) If the selling price of 20 oranges is same as cost price of 30 oranges, find the gain

percentage. / fe 20 TRl &1 faspy Yeu 30 TRl & 4 oI & JHM &, a1 ATH Ufa=ra J1d B
1. 80 %
2. 60 %
3.50 %

4.70 %

Correct Answer :-
e 50%

21) The ratio of father's age to son's age is 3 : 1. The product of their ages is 243. The ratio of
their ages 9 years hence, will be: / T Tt 3T BT YA B MY A 3IUTd 3 : 1 81 IADI TG BT
UM% 242 81 9 a9 UYTd ST 3T BT 3IUTd gI:

1.2:1
2.3:1
3.5:3

4.4:1

Correct Answer :-

22) The ratio of salaries of Sonu and Monu is 3 : 4 and the ratio of their expenditure is 8 : 11.
If the savings of both of them are equal, then the salary and expenditure of Sonu are in

ratio: / T 3R W[ P A1 BT U 3 : 4 ¢ 3N 3% G BT U 8 : 11 81 AfS I &Y T=a
U ¢ a1 W & 3a 3R 399 $T T 3:

1.9:11



2.8:9
3.11:9

4,.9:8

Correct Answer :-

23) The ages of two persons differ by 20 years. If 5 years ago, the elder one be 5 times as old
as the younger one, their present ages (in years) are respectively: / & faaal #t 31y 720

994 &7 3R ®1 Tfe 5 a¥ ugdl, Mg # g7 cafe, Mg A Bie safed & 5 AT 9871 YT dl IAP! aa T Mg
(mﬁﬁ')m:%’:

1. 20, 20
2.30,10
3.25,15

4. 20, 10

Correct Answer :-

24) Sulthan has purchased an item for Rs. 2,000. If he wants to make a profit of 20 % at
what price must he sell the item? / & = 2,000 ¥UY I TH ag @iicl | AT af 20% BT ATH
HUMT IT8dT1 @ df I f5rd Ted IR ag &1 9911 g2

1. Rs. 2,400 / 2,400 ST
2. Rs. 2,100 /2,100 ST
3. Rs. 2,200 / 2,200 ST

4. Rs. 2,300 / 2,300 ST

Correct Answer :-

« Rs. 2,400 /2,400 30T

25) Which one of the following four addresses is NOT EXACTLY same as the one given below? / ﬁl"}l’ ﬁﬁ Tl'a'

IR vdl § ¥ 1 i M vd & S THE o1 91 T A8 72

Heinz



Sudring 25,

Emsdetten, 48282

(i) Heinz
Sudring 25,

EmSdetten, 48282

(ii) Heinz
Sudring 25,

Emsdetten, 48282

(iii) Heinz
Sudring 25,

Emsdetten, 48282

(iv) Heinz
Sudring 25,
Emsdetten, 48282

1. iii

Correct Answer :-

26) Find the average. / 3N fAerfed|
77,79, 83, 89,95 & 99
1. 89

2. 87



3. 88

4. 91

Correct Answer :-

e 87

27) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /:ﬁaaﬂg mﬁ, NWGﬁTH@TGﬁWWWﬁ%ﬁ%I meﬁl’
i.hwoi3016wioh

ii.hwoi3016wioh

iii.hwoi8016wioh

iv.hwoi3016wioh

1. iii

28) Asha and Nisha are two sisters who intend to meet their aunt who is 25 km away. Asha
leaves home at 9 am and walks at a speed of 4 km per hour while Nisha leaves at 11.30 am
on a bicycle at a speed of 9 kmph. When does Nisha meet Asha? / 3{IRIT 3R fA=m & I %\‘rﬁ
SOt Ot | frem 1 gRTeT TEdt § o fp 25 it gv €1 o= ure: 9 99 wR | Riwad 7 ik 4 feit
wfd e &Y T1a | Fadt § Jafe A= ue: 11.30 R A Aeadt g sik 9 e ufd der st a@ @
arsfrd WX AR g1 =, o= 3 w4 frenfi?

1.2.30 p.m.
2.1 pm.
3. 12.00 noon

4. 1.30 p.m.

Correct Answer :-



A person travels equal distance with speeds of 4 kmph, 5 kmph, and 6 kmph and takes a total
time of 74 min. The total distance in kilo meter is: / T% afa 4 fatht ufaq w2, 5 frht ufaq w2 sk
6 f& it ufa ¢ 3t T A TuE g B ar HRar @ iR 74 fieie &1 oa wuy Aar 31 fra e A pa

FUE

1. 10 km / 10 el
2. 12 km / 12 Tt
3. 8 km /8 fobeil
4. 6 km / 6 fobel

Correct Answer :-

« 6km/6fhH!

30) A man was asked to multiply a certain number by 53. He multiplied it by 35 and got his
answer less than the correct one by 1206. What was the number to be multiplied? / U® &Y
¥ foreft i3 Ter &1 53 | U F- DI Hel T 3T 35 J TN fHar iR S IR T g at
T SR A 1206 FH UT| N HA Pt G& F1 62

1. 67
2. 87
3.37

4. 107

Correct Answer :-

e 67

Topic:- Science and Simple Arithmetic

1)
Line segments AB and CD intersect at O such that AC || DB. If £CAB = 40° and £CDBE = 607,
then 2BOD = -/ @@us ABAR CDfdg O W 50 diF Ji=aiqd id & T AC||
DBE. 12 2CAB =403 2CDB =60°. dr £LBOD =

1.40°

2.80°

3. 60



o

4.70

Correct Answer :-

o

« 80

2)
A washing machine was purchased 3 vears ago for Rs. 19440. Its value depreciates at 16 % %o per
annum. Its value after 1 vear will be: / Us aifier @i 3 a¥ gger 19440 ¥4 & @iEr a5
$EF Fpd S 16 % & g6 gl #1 o 1 a¥ ag He wr gan?

1. Rs. 7812 /7812 30

2. Rs. 10375 /10375 300

3. Rs. 9375 /9375 300

4. Rs. 8995 / 8995 30U

Correct Answer :-

« Rs. 937579375309

3)

What is the value of +/0.0016 7 / +/0.0016 &T HA T

gram?
1.0.04
2.0.4
3. 0.0004

4. 0.004

Correct Answer :-
« 0.04
4)

In a parallelogram ABCD AF 1| BCand CE L AB If AF =8 cmand AB=12 cm, thenCE =
. | §ACY i ABCD #, AF L BC3RCE L AB §| 375 AF=8 §4HI 3R AB =12

&L S CE =



1.8 cm /8 At
2.2 cm /2 I
3.4 cm /49Ul
4.16 cm / 16 9HT

Correct Answer :-

. 4cm/4®1ﬂ

5)

Find the number of bricks each measuring 24 cm %12 cm*8 cm required to construct a wall 24 m

long, 8 m high and 60 cm thick, if 10% of the wall is filled with mortar. / 24 #I. &dr, 8 #. 54T
T 60 FA. A Sa & AT & BT 24 B 12 FF <8 AT AT arelr St fr Huar A g
Fifete, 7fg A &7 10% T T F oW S Bl

1. 4950

2. 4500

3. 450000

4. 45000

Correct Answer :-

« 45000

6) A man bought a horse and a carriage for Rs. 3000. He sold the horse at a gain of 20% and the
carriage at a loss of 10%, thereby gaining 2% on the whole. The cost price of the carriage is: /

TP Afed A TH TIST TYT TH i 3000 FUY H WIST | ITA °IS BT 20% TATH TR 94T difl B 10% BT
TR 9 foaT, 39 9RE I T 2% 1 T fFan| it 1 ana ge e g

1. Rs. 1200 / 1200 394
2. Rs. 1300/ 1300 3T
3. Rs. 1800/ 1800 3T

4. Rs. 1700/ 1700 ST

Correct Answer :-

« Rs. 1800 /1800 30



7) If PQRS is a parallelogram with PR = QS, then PQRS is a ./qf¢ PQRS T®H JHIAR
Igye g foRI@t Yot PR = QS, a1 PQRS A &:

1. thombus /Q:l'ﬁlilﬂﬂ?ﬂ
2. square / Tl

3. rectangle / 31Id
4. none of the above / SR T I ﬁé ER

Correct Answer :-

 rectangle / 31Ad

8) Two cats A and B together catch 60 mice. If A catches three mice for every two caught by B,
the number of mice caught by B is: / &) fafeeal A i B A @ 60 ¢ uws 1 af A 7 B gRI TS

T Ul & g1 & R fi9 98 use, a1 B gRT U T g1 & H©1 f 2
1. 20
2. 26
3.24

4. 30

Correct Answer :-

. 24

9 Ifa= b2%, b = ¢ and ¢ = a%%, then the value of xyz is: /af¢ a = b?*, b = ¢2Y 3R ¢ = a2, A xyz
®1 9 e ghm:

ba | m e

| =

e

Correct Answer :-



[

10) If the number of boys and girls in a class are 45% and 55%, respectively and is represented
in a pie chart, what will be the central angles of portion representing boys and girls? / afe Tw

HETH TSPI AU ASTHUT 31 S BT WA= HHI: 45% YT 55% 3, 3R T4 UT% 91¢ | fefua fear
T B, Al ASH! 9UT asfHal & UTT &) FARed S+ ardt UTT & skt H1oT T g

11720, 188"

2.170°, 190

3.150°,210°

4.162°, 198

Correct Answer :-

. 162°, 198"

11) The product of (x —y) and (y — x) = ./ (X — y) T (y — X) BT UGS =1 gRM:
1. X2-y2—2xy
2. X2+y2—2xy
3. 2xy+x2+y2
4, 2xy—x2—y2

Correct Answer :-

12) If 52 men can do a piece of work in 35 days, in how many days will 28 men do the same

work? / afe forft B B 52 3reHt 35 faT ° B T 8, At I B B1 28 31 fram fa=i & w12
1. 62
2. 68
3. 65

4. 60

Correct Answer :-



13) What is the quotient obtained when 3y* — 3y> — 4y2 — 4y is divided by y2 — 2y? / 3y* - 3y3 —
4y? — 4y Bt y2 — 2y W UNT ¢4 W FT YRTHS WIS §RI1?

1.3y? -3y +2
2.3y%-3y-2
3. 3y2+3y+2
4, 3y +2

Correct Answer :-

e 3y2+3y+2

14) Which of the following is a rich source of iodine and potassium? / Fufafaa # 3 19 smda aur
TR $T YR T 82

1. Kelp / &Hed

2. Chlamydomonas / FASIAAT
3. Yeast / @HR

4. Spirogyra / W@Tﬂgﬂ

Correct Answer :-

« Kelp /b

15) Cavities of mouth, blood vessels, heart, etc, are lined with: / & G| W, Nod aﬂ%w'z, Tad
safe AT & a1y ¥ad fee oird 6

1. Squamous epithelium / Q| IUdH

2. Columnar epithelium / ¥THIHR IUDBAI

3. Cuboidal epithelium / YThIR YD ]

4, Connective tissue / Wﬁﬁ SHddh

Correct Answer :-

» Squamous epithelium / bt JUDH Al



16) Out of the four elements given below, which group can gain one electron and complete
its outermost shell?

Flourine, Chlorine, Hydrogen, Helium

/ = foE T AR dwl d | B T GG UP ST BT ATH YT DY Tl ¢ aUT (T STeTaH HI
P gul HR Pl 32

TSN, TR, gresie, giferan

1. Flourine only / Ryt %ahﬂ:r

2. Flourine, chlorine, hydrogen, helium / t@\?rhﬂ:f, ?ﬁhﬂ:{, g@ﬁﬂ, Eﬂﬁﬁm
3. Flourine, chlorine, hydrogen only / R tlﬁevhﬁ:f, a%ﬁ?‘h, E'I’s’@ﬁq

4. Flourine, chlorine only / R qﬁ&hﬂq, FARMA

Correct Answer :-

 Flourine, chlorine, hydrogen only / R tﬁahﬂ:f, a@ﬂ:f, 6|$_§;|GI:|

17) The network of knotted thread like structures in the nucleus is called ./

AT § WG YRt oY HREETY Heardl g
1. DNA / SIT-U

2. chromosomes / UL

3. chromatids / G{W
4. chromatin / fed

Correct Answer :-

« chromatin / piafeT

18) Name the organelle that is seen only in plant cells. / @ UTGU HIfRTH13M A U W4 arad
PHIRABIT HT ATH FA15C|

1. Mitochondria / q@m
2. Centriole / ARBG
3. Plastids / {Idd

4. Lysosome / TP

Correct Answer :-

e Plastids / ddIddh



19) A solution contains 50 g of sugar in 250 g of water. Calculate the mass by mass
percentage of the solution. / T fd@a= & 250 UTH &a § 50 9 11 fAfgd 81 faeaa & o=
Afa=Ia | SHH &1 IS Be |

1.16.7%
2.20%
3.25%

4. 18.5%

Correct Answer :-
e 16.7%

20) The pressure exerted by man on earth is minimum when he: / q%aﬁw 3TeHY gRT evmAT
TT 319 <gAqH BT § o9 d8:

1. Sits with both the legs folded / Q1 URI 1 HI§ & 93T & |
2. Lies down in a sleeping position /ﬁ’l’q’ﬁf@rﬁrﬁm%l
3. Stands on both feet/ﬁﬁﬁﬁ@@@?ﬂ%l

4. Stands on one feet / Wﬂ?ﬂ@@@?ﬂ%l

Correct Answer :-

e Lies down in a sleeping position /:ﬂ?{ﬁf@ﬁﬁmal

21) Units of heredity are: / anaaﬁuwn ﬂﬂ%ﬁ?ﬁ%
1. Nucleus /ATH®

2. Genes /S

3. Nucleolus / bigd

4. Chromosomes /T[URLA

Correct Answer :-
« Genes [STH

22) Which of the following does not allow the electric current to pass through them? / Fuafafea A o=

fagaa urT yaTfed 81 Y srgAfa T8t qan 32
1. Tap water / -Te] &1 UTHT
2. Sea Water/ﬂﬂ_ﬁﬁﬁ



3. Vinegar / R

4. Distilled water / 3T{d oIcT

Correct Answer :-

« Distilled water / STd ofcT

23) Which of the following is NOT an example of a bio-mass energy source? / fEadd e ﬁa—mﬁr

S Foll BT i 181 22

1. Coal / ST

2. Nuclear energy / DT ol
3. Wood / FIEIOT‘:)[

4. Gobar-gas / MR T

Correct Answer :-

» Nuclear energy / DTG Sl

24) An example of night bird is: / IR tl'&‘ﬁ DI TP 3gler Ul % :

1. Owl/ 3¢
2. Crow/ﬁ&ﬂ

3. Sparrow / R
4, Bat / IJHIIGS

Correct Answer :-

25) Kilowatt hour is the unit of: / fearare ger A= &t Eﬂﬂg %:
1. Electric potential / ﬁ’g{cﬁ faya

2. Electrical energy / ﬁ_{.?:lﬂ it

3. Electric charge / ﬁgqﬁ 3TA

4. Electric power / ﬁ—g'?:ﬁ‘f e

Correct Answer :-

« Electrical energy / [agad Sl



26) The cell organelle that controls all the activities is called ./ DRt 3T St gt wfafaferay o1
frafa eware, Fgara gl

1. mitochondria / GABIORT
2. nucleus / AT

3. ribosome/ﬂ%@@'ﬁ[
4. endoplasmic reticulum / WW

Correct Answer :-
¢ nucleus / ATN®
27) Why are large poultry farms constructed? / §§ $agpe BTH o1 futor w4t farar sirar 32

1. There is low maintenance requirement for developing poultry only. /WW%W%WW
/TG DT HIRIHT ¢ |

2. To develop very good hatchery for egg layers, in large numbers only. /Wa@}[mﬁ 38 ﬁ%ﬁlﬁﬁ@ﬂ
3w TR DI f[AHT HAT|

3. To raise broilers for chicken meat in large numbers only. /WH’TW%W Wmﬁa"waﬁ
CISER

4. All the above / STRIGd IHt

Correct Answer :-

« All the above / ITRIad g4t

28) In which part of the alimentary canal is the food finally digested? / IYOT 9Tel & fHT HIT A WIS BT
Sifaw U BT 82

1. Large intestine /El@,ﬂ 3{id
2. Stomach / STHIRY

3. Mouth cavity / T8 Tfg bl
4, Small intestine / 5 <t efid

Correct Answer :-

e Small intestine / €§ <l 3fid

29) Two equal circles of radius ‘r’ intersect such that each passes through the centre of the other.

The length of the common chord of the circle is: / 'r’ Brear are g guE 9ol Q’\ﬁ ufofed #wa % f&



TP g gk 9l & &% O gIDR oiRd & | gt Bl IUAfISS Siar &1 dars et g

\.,."E r

3.

4, 2r

Correct Answer :-

30) Which of the following statements is INCORRECT? / A% & & ®I9 I1 Y= 7Tad 82
1. 216 is a perfect cube. / 216 Q?#T‘IUfan%I

2. There is no perfect cube which ends in 4. /Qmﬁéqﬁw:@%%w 3ifaH i 4 BT

3. If a divides b, then a3 divides b3. /T b &1 a faHTIST Bl &, I b3 B 23 fawTioTd HXM|

4. 8640 is not a perfect cube. / 8640 WEUT‘EFT T2

Correct Answer :-

« There is no perfect cube which ends in 4. / 391 13 ot &= 78} § forerT Sifaw sics 4 811



